First Racket Programming Assignment Solution

Learning Abstract:

In this Racket assignment I learned about structuring numeric sequences and defining constants
within the language, as well as practicing using these numeric sequences to compute values. |
also learned how to define and then display shapes within the Interactions pane of DrRacket.

Interaction: Simple Numeric Processing

Interaction: Solution to the Scrap Problem

The Scrap Problem: A circular disk of maximal size is cut from a square piece of tin of side 100
units. What is the area of the scrap?

* * side: undefined;

cannot reference an identifier before its definition
> define side 1080
> side

108
> [ define square-area
> sqQuare-area

1908
> ( define radius
> radius

58

define circle-area * pl radius radius

> circle

sguare-area circle-area




Interaction: Illustration of the Scrap Problem Situation

htdp/image
1080
—square ( square side “solid" “silwver"

the-square

> define
> define
> defin
> the-image

Interaction: Illustration of the Target Problem Situation

require Zhtdp/image
ne big=red-r us 5@
ne big-red-circle { circle big-red-radius "solid" "red"
big=red=circle

* big-red-radi
circle blue-radius "solid" "blue"

l-red=-radius
red=circle [ ] E "solic
small=red=circle

red"

e-target { overlay small-red-circle blue-circle big-red-c




Interaction: Solution to Target Problem

whole-radius 5@
hole-area * pl whole-=radius whole-radius

74483
define blue-radius * whole-radius 3/4
define blue-area ¥ pl blue-radius blue-radius

647
define small-red-radius { % whole-radius 1/7
define l=red-area * pl small-red-radius small-red-radius

whole-area blue-area
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